F5KR WXEBBHSSVEFERF 1

EBEE FTLEEH 20135108

#t * B % (AXH#) BRI AL | HEIELE
X MATERRGC)| Yz s ()=
BF(AN) TF(N) FHA) i B %
2E 25,814 55,040 80,854 -2.8 6,070 1.9
1088 16,481 30,047 46,528 -1.9 7,008 2.6
FLIR 491 1,485 1,976 -2.0 6,432 2.5
=y 380 966 1,346 0.9 5275 -25
BRI 7,480 11,643 19,123 1.0 6,452 -0.4
fi R 1,205 2,577 3,782 -1.6 7,533 1.2
2HE 1,244 2,133 3,377 -4.6 9,094 6.9
RER 750 1,991 2,741 -1.7 6,912 -2.3
KB 3,303 6,160 9,463 -3.5 7,065 9.5
R 410 497 907 -14.7 13,645 9.6
L5 566 1,171 1,737 -8.2 5,867 05
fa el 652 1,424 2,076 -6.0 7,375 5.9
10887 LS DR 9,333 24,993 34,326 -4.1 4,798 0.0
dbiEE 148 494 642 -2.7 4,573 -1.6
P4 642 1,852 2,494 0.9 3,506 -4.8
3B 4,026 11,793 15,819 -5.2 4,908 0.7
HRER 638 1,567 2,205 -4.0 5,751 -0.7
i3 926 2,322 3,248 -34 5,018 -0.2
FE 685 1,856 2,541 -45 4546 -0.9
rHE 564 1,393 1,957 -3.3 4,593 038
L 1,704 3,716 5,420 -3.9 4,770 1.1
FE5% WMEEHMBIUVEHEEEF 2
m % f’ % H B 15
£2E 6,238,143 -0.9 7,867 -0.1 30.9 30.9 242
1088 TH 3,139,272 -0.7 10,387 1.4 31.0 30.9 84
FLIR 155,329 0.0 8,182 05 31.0 31.0 5
fiLs 88,863 0.0 7,991 -1.6 31.0 30.7 3
BRI 875,636 -5.0 14,091 5.9 31.0 31.0 25
i pl 273,909 0.2 10,402 -0.6 31.0 31.0 10
LZHE 307,660 0.7 9,982 1.2 31.0 31.0 7
R 204,326 0.0 9,272 -3.9 31.0 31.0 7
KB 729,326 7.4 9,167 -1.6 31.0 31.0 11
R 131,631 -6.5 9,402 -0.1 31.0 31.0 5
IN= 197,906 -9.6 5,149 2.0 30.4 30.4 7
& 174,686 0.0 8,764 -0.4 31.0 31.0 4
lommstomE [ 3,098,871 -1.0 5,315 -3.2 30.9 30.9 158
dbiEE 74,348 0.0 3,949 -4.3 30.8 30.8 4
C P4 239,470 -0.1 3,651 -3.8 31.0 31.0 16
£3E 1,302,787 -1.2 5,960 -3.4 30.9 30.9 57
thER 273,199 -0.1 4,642 -4.6 30.4 30.3 14
i3 332,154 0.0 4,907 -3.6 31.0 31.0 30
HE 223,536 -4.9 5,167 -0.4 31.0 31.0 14
ue]E3| 164,991 0.0 5,448 -2.5 31.0 31.0 6
FuI 488,386 -0.6 5,293 -2.3 30.8 30.9 17




